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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. 6x2 + 25x+ 21 = 0                            II. 3y² − 16y +21 = 0

Q.32 :- I. 4x2 − 12x + 5 = 0                            II.  8y2 + 3y = 38

Q.33 :- I. 15x² + 68x + 77 = 0        II. 3y² + 29y +68= 0

Q.34 :- I. 4x² − 7x + 3=0                                 II.  y2 − 2y + 1 = 0

Q.35  :- I. 3x2 − x − 70= 0 II.  y² − 31y+ 240= 0

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 1-5):-Direction for Question

Read the following data carefully and answer the questions below.
प्रश्न के लिए लिरे्दश लिम्नलिखित डेटा को ध्याि से पढ़ें और िीचे लर्दए गए प्रश्नो ों के उत्तर र्द़ें।
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(A)2500 (B)2656 (C)2688 (D)2572 (E)None of these

Q.1 :- If total number of male people who drive Amaze is 7200, then how many female drive 
Baleno?
यलर्द अमेज चिािे वािे पुरुषो ों की कुि सोंख्या 7200 है, तो लकतिी मलहिाएों बिेिो चिाती हैं?
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(A)200000 (B)300000 (C)400000 (D)500000 (E)None of these

Q.2 :-If the number of female who drive Audi is 21120, then what was the total number of 
cars of all types?
यलर्दऑडी चिािे वािी मलहिाओों की सोंख्या 21120 है, तो सभी प्रकार की कारो ों की कुि सोंख्या
लकतिी थी?
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(A)758600 (B) 768672 (C)686072 (D)728752 (E)None of these

Q.3 :- If in the next year, there is an increase of 10% and 20% in the number of male and 
female who drive Figo and Duster respectively and the total number of people who drive 
Ritz is 367200 then find the total number of people who drive Figo and Duster.
यलर्द अगिे वषष, लिगोऔर डस्टर डर ाइव करिे वािे पुरुषो ोंऔर मलहिाओों की सोंख्या म़ें क्रमशः
10% और 20% की वृखि होती है और ररट्ज डर ाइव करिे वािे िोगो ों की कुि सोंख्या 367200 है, 
तो लिगो डर ाइव करिे वािे िोगो ोंऔर डस्टरकी कुि सोंख्या ज्ञात कीलजए। ।
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(A)6400 (B)7200 (C)6300 (D)5040 (E)None of these

Q.4 :-If the total number of people who drives Amaze is 31500 then what is the total number 
of female who drive Ritz?
यलर्द अमेज चिािे वािो ों की कुि सोंख्या 31500 है, तो ररट्ज को चिािे वािी मलहिाओों की कुि
सोंख्या लकतिी है?
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(A)11:8 (B) 8:11 (C)5:8 (D)5:11 (E)None of these

Q. 5:-If the total number of male who drive Baleno is 45670, then what is the ratio of the 
female who drive Amaze to the total number of male who drive Duster?
यलर्द बिेिो चिािे वािे पुरुषो ोंकी कुि सोंख्या 45670 है, तो अमेज चिािे वािी मलहिा का
डस्टर चिािे वािे पुरुषो ोंकी कुि सोंख्या से अिुपात लकतिा है?
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Directions :- In the following questions, calculate quantity 1 and quantity2, compare them 
and answer according to the following options.

(a) If Quantity I > Quantity II
(b) If Quantity I < Quantity II
(c) If Quantity I ≥ Quantity II
(d) If Quantity I ≤ Quantity II
(e) If Quantity I =  Quantity II or no relation can be established

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

21. Quantity I: The ratio of ages of two friends P 
and Q is 5:7 and the ratio of age of P before 4 year 
and the age of Q after 10 year is 1:2,then find the 
present age of P? 
Quantity II: The ratio of age of P and Q before 5 
year is 5:8 and the ratio of their ages will become 
2:3 after 7 year, then find present age of P?

मात्रा I: र्दो लमत्रो ोंP औरQ कीआयु का अिुपात
5:7 है और 4 वषष से पहिे P कीआयुऔर 10 वषष
बार्दQ कीआयु का अिुपात 1:2 है, तो P की वतषमाि
आयु ज्ञात कीलजए?
मात्रा II: 5 वषष से पहिे P औरQ कीआयु का

अिुपात 5:8 है और 7 वषष बार्द उिकीआयु का
अिुपात 2:3 हो जाएगा, तो P की वतषमािआयु ज्ञात
कीलजए?
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22. Quantity I: The difference between the
compound interest and the simple interest on an 
amount of Rs.32000 in two years is Rs.320. find 
the rate of interest?
Quantity II: An amount triples itself at simple 
interest in 14 years. find the rate of interest?

मात्रा I: र्दो वषों म़ें 32000 रुपये की रालश पर
चक्रवृखिब्याजऔरसाधारणब्याज के बीच का
अोंतर 320 रुपये है ब्याजकी र्दर ज्ञात कीलजए?

मात्रा II: एक रालश 14 वषों म़ें साधारणब्याज पर
स्वयों की लतगुिी हो जाती है। ब्याज र्दर ज्ञात कीलजये?
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23. Quantity I: area of a rectangle is 84m² and its 
perimeter is 38m if a 2m wide path is constructed 
both side along with the longer side of the 
rectangle then find the area of the path?

Quantity II: the volume of cylinder is 192 find 
the volume of another cylinder which height is same 
to the first and radius is half?

मात्रा I: एकआयतका के्षत्रिि 84m² है और
इसकी पररलध 38m है यलर्दआयतकी िोंबी भुजा के
साथ-साथ2m चौडे पथ का लिमाषण लकया जाता है, 
तो पथका के्षत्रिि ज्ञात कीलजए?

मात्रा II: बेिि काआयति 192 है रू्दसरे बेििका
आयति ज्ञात कीलजए लजसकी ऊँचाई पहिे के
समािऔर लत्रज्याआधी है?
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24. Quantity I: Two equal amounts are invested 
for years at 9% per annum by Virat, one at 
simple interest and the other at compound 
interest. If the difference in the interests for the 
two years on the two amounts is 27, then what is 
the amount
Quantity II: Two equal amounts are invested for 2 
years at 11% per annum by Virat, one at simple 
interest and the other at compound interest. If the 
difference in the interests for the two years on the 
two amounts is 36.3, then what is the amount?
मात्रा I: लवराट द्वारा र्दो समाि रालश वषों के लिए 9% प्रलत वषष
की र्दर से लिवेशकी जाती है, एकसाधारणब्याज परऔर
रू्दसरी चक्रवृखिब्याज पर। यलर्द र्दोिो ों रालशयो ों पर र्दो वषों के
ब्याजका अोंतर 27 है, तो रालशक्या है?
मात्रा II: लवराट द्वारा 2 वषष के लिए 11% प्रलत वषष की र्दर से र्दो
समाि रालशका लिवेश लकया जाता है, एकसाधारणब्याज परऔर
रू्दसरी चक्रवृखिब्याज पर। यलर्द र्दोिो ों रालशयो ों पर र्दो वषों के लिएब्याज
का अोंतर 36.3 है, तो रालशक्या है?
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25. Their are two bags A and B, bag A contains 6 red 
balls and bag B contains 4 green balls. Then find the 
probability of  
उिके र्दो बैग A और B हैं, बैग A म़ें 6 िाि ग़ेंर्द़ें हैं और
बैग B म़ें 4 हरी ग़ेंर्द़ें हैं। तो की प्रालयकता ज्ञात कीलजए

Quantity I: Getting 2 red and 1 green ball 

Quantity II: Getting 1 red and 1 green ball

मात्रा I: 2 िािऔर 1 हरी ग़ेंर्द प्राप्तकरिा

मात्रा II: 1 िािऔर 1 हरी ग़ेंर्द प्राप्तकरिा

E04613
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(A)13kmph (B)80kmph (C)60kmph (D)50kmph (E)None of these

Q.26 :- A 100 m long train moving at the speed of 30 m/sec. crosses another 120 m long train 
coming from opposite direction in 6 seconds. What is the speed of second train?
एक 100 मीटर िोंबी टर ेि 30 मीटर/सेकों ड की गलत से चिती है। लवपरीत लर्दशा से आिे वािी 120 
मीटर िोंबी टर ेि को 6 सेकों ड म़ें पार करती है. रू्दसरी टर ेि की गलतक्या है?
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(A)2/91 (B)4/91 (C)9/91 (D)11/91 (E)None of these

Q.27 :- A bag contains 4 white, 5 red, and 6 blue balls. Three balls are drawn at random 
from the bag. The probability that all of them are red is –
एक बैग म़ें 4 सिेर्द, 5 िािऔर 6 िीिी ग़ेंर्द़ें हैं। बैग से यादृखिकरूप से तीि ग़ेंर्द़ें लिकािी जाती
हैं। उि सभी के िाि होिे की प्रालयकता है -
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(A) 3kg (B)5kg (C)6kg (D)7kg (E)10kg

Q.28 :- In a mixture of 42 kg., two type of rice are mixed in a ratio of 4: 3. If there was 
removed x kg. from both varieties then ratio becomes 7:5 what is the value of x.
42 लकग्रा के लमश्रण म़ें, र्दो प्रकार के चाविको 4:3 के अिुपात म़ें लमिाया जाता है। यलर्द हटा लर्दया
जाए तो x लकग्रा। र्दोिो ों लकस्ोों से तो अिुपात 7:5 हो जाता है, x का मािक्या है?
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(A)Rs.1000 (B)Rs.500 (C)Rs. 1500 (D)Rs.800 (E)None of these

Q.29 :- Rs 2500 is distributed amongst A, B and C in such a way that C's share is one -
fourth of A and B's share and B's share is 90% of A's share. What is C's share?
2500 रुपये ए, बीऔर सी के बीच इस तरह लवतररत लकए जाते हैं लक सी का लहस्सा एऔर बी के
लहसे्स का एक-चौथाई है और बी का लहस्सा ए के लहसे्स का 90% है। C का लहस्साक्या है?
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(A)35 hr. (B) 25 hr. (C)20 hr. (D) CND (E)None of these

Q.30 :- Three pipes A, B and C together fill a tank in 5 hours. The speed of pipe C is twice 
that of pipe B and speed of pipe B is twice that of pipe A. In what time will pipe A fill the 
tank?
तीि पाइप A, B और C लमिकर एक टैंक को 5 घोंटे म़ें भरते हैं। पाइप C की गलत पाइप Bकी गलत से
र्दोगुिी है और पाइप B की गलत पाइपA की गलत से र्दोगुिी है। पाइपA टैंक को लकतिे समय म़ें
भरेगा?
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(A)300kg (B)500kg (C)800kg (D)750kg (E)None of these

Q.15 :-A merchant has 800 kg of sugar, a part of which he sells at 20% profit and the rest at 
16% profit. He gains 18.5% on the whole. Find the quantity sold at 16% profit ?
एकव्यापारी के पास 800 लकग्रा चीिी है, लजसका एक भाग वह 20% िाभ पर तथा शेष 16% 
िाभ पर बेचता है। उसे कुि लमिाकर 18.5 प्रलतशतका िाभ होता है। 16% िाभ पर बेची गई
मात्रा ज्ञात कीलजये?
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(A)41°c (B)42°c (C)43°c (D)39°c (E)None of these

Q.16 :-The average temperature for the months of May, June and July was 48°C. The 
average temperature for the months of June, July and August was 50°C. If temperature in 
the month of August was 45°C, what was the temperature in the month of May?
मई, जूिऔर जुिाई के महीिो ों म़ें औसत तापमाि 48 लडग्री सेखियस था। जूि, जुिाईऔर
अगस्त के महीिो ों म़ें औसत तापमाि 50 लडग्री सेखियस था। यलर्द अगस्त के महीिे म़ें तापमाि
45°C था, तो मई के महीिे म़ें तापमाि लकतिा था?
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(A)30 (B)31 (C)33 (D)36 (E)None of these

Q.17 :-Ramu has 3 different kinds of chocolates costing Rs 5, Rs 6 and Rs 10. He spends a 
total Rs. 110 on the chocolates. Find the sum of minimum and maximum chocolate he can 
buy with one condition that he must buy from all varieties?
रामू के पास 3 अिग-अिग प्रकार की चॉकिेट हैं, लजिकी कीमत 5 रुपये, 6 रुपयेऔर 10 रुपये
है। वह कुि रुपये िचष करता है। चॉकिेट पर 110. वह एकशतष के साथ नू्यितमऔरअलधकतम
चॉकिेट िरीर्द सकता है लक उसे सभी लकस्ोों से िरीर्दिा चालहए?
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(A)29.16 ltr (B)25.5 ltr (C)39.16 ltr (D) 31.16ltr (E)None of these

Q.18 :- A container contains 40 liters of milk. From this container 4 liters of milk was taken 
out and replaced by water. This process was repeated further two times. How much milk is 
now contained by the container?
एककों टेिर म़ें 40 िीटर रू्दध है। इसकों टेिर से 4 िीटर रू्दध लिकािा गयाऔर उसके स्थाि पर
पािी डािा गया। इस प्रलक्रया कोआगे र्दो बार र्दोहराया गया। कों टेिर म़ें अब लकतिा रू्दध है?
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(A)1025 (B)2050 (C)4100 (D)3250 (E)1850

Q.19 :- The simple interest accrued on a sum of certain principal is Rs. 14400 in six years at 
rate of 12% per annum. What will be the compound interest on the same sum in two years 
at 5% per annum.
कुछ मूिधि की रालश पर अलजषत साधारणब्याज रु. 14400 छह वषों म़ें 12% प्रलत वषष की र्दर
से। समाि रालश पर 5% प्रलतवषष की र्दर से र्दो वषों म़ें चक्रवृखिब्याज लकतिा होगा?
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(A)1080 (B)3500 (C)3780 (D)7000 (E)None of these

Q.20 :- A can do 20% part of a work in 8 days, B works 30% part of the same work in 12 
days and C works 40% part of that work in 18 days. If B and C's 1-day wage difference is 
Rs 12, then what will be the wage of A on working 35 days?
A लकसी कायष का 20% भाग 8 लर्दिो ों म़ें, B उसी कायष का 30% भाग 12 लर्दिो ों म़ें तथा C उसकायष
का 40% भाग 18 लर्दिो ों म़ें कायष करता है। यलर्द B और C के 1 लर्दि के वेति का अोंतर 12 रुपये है, 
तो 35 लर्दि काम करिे पर A का वेति लकतिा होगा?
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(A)2:3 (B)1: 2 (C)1 : 3 (D)3: 2 (E)None of these

Q.21 :- X, Y and Z were sharing profits in the ratio of 3: 4: 5. Y declined to receive the profit 
so X and Z decide to share profits in the ratio of 1: 2. Find the ratio of the increment in the 
profit of X and Z.
एक्स, वाईऔर जेड 3: 4: 5 के अिुपात म़ें िाभ साझा कर रहे थे। वाई िे िाभ प्राप्तकरिे से
इिकार कर लर्दया, इसलिए एक्सऔर जेड िे 1: 2 के अिुपात म़ें िाभ साझा करिे का िैसिा
लकया। के िाभ म़ें वृखि का अिुपात ज्ञात कीलजए। एक्सऔर जेड।
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(A)15% (B)10% (C) 20% (D)25% (E)16 2/3%

Q.22 :-Manish bought 25 kg. sugar at Rs.32 per kg. and 15 kg. of sugar at Rs.36 per kg. 
What profit % did he get when he mixed the two varieties together and sold it as Rs.40.20 
per kg?
मिीष िे 25 लकिो िरीर्दा। चीिी 32 रुपये प्रलत लकिो।और 15 लकग्रा. चीिी का 36 रुपये प्रलत
लकिो। जब उसिे र्दोिो ों लकस्ोोंको एक साथ लमिायाऔर इसे 40.20 रुपये प्रलत लकिो के लहसाब
से बेचा तो उसे लकतिा िाभ% प्राप्त हुआ?
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. x2 − 14x+ 48 = 0                            II. y² +6= 5y  

Q.32 :- I. 2x +3y = 14                                   II.  4x + 2y  = 16

Q.33 :- I. x² + 9x + 20 = 0        II. y² + 7y +12= 0

Q.34 :- I. x² − 1=0                                          II.  y2 + 4y + 3  = 0

Q.35  :- I. x²  = 529 II.  y =  √529
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